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Max. Marks : 40
PART _ A

Answer all questions. Each guestron carries 1/z fi)atk.
1. Two events are said to besimultaneoustylr;;";Jiiur. -- - event when both cannot happen

2. The additive mc,del of a time series is expressed ast 
a; *i-cl:*ar f i ff,?f,-TJf;:?l: 

to such variations in business activity r,vhich

4. The varue of coerficient of correiation is arways rie between anrl
(4x1/z=2)

PART _ B
Answer any four questions. Each question carries 1 mark.
5. What is scatter diagram ?

6. Define Regressron.

7. What is Hank Ccr.relation ?

8. Wirat is moving average ?

9. What is permutation and combination ?
10. What is mutually exclusive events ?

(4x1=4\
PART"* C

Answer any six questions (Not exceecilng one page). Fach question carries 3 marks.1 1. What do you mean by normal drstribution ?'!2. Distinguish between correlation anc regression.
i 3. carcurate the coefficient oi rorreration from the folrowing crata :x987654321
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14. What is the probability that a leap

53 SundaYs ?
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year, selected at random, will contain

2143
1324

56789
11 13 14 16 15

2011 2012 2013 2A14 2015 2016 2417

10 13 12 14 12 '16 14

15. Two boys rvere asked to rank
given by them are given as :

7 different brancis of mobile phones' The ranks

Brands of moblle Phones A B C D F

o
Vijay

Surya

calculate spearman's rank correlation coefficient.

16. From the following data obtain the two regression equations and calculate the

correlatiotr coefficient.

x1234
Y I B 10 12

17. Fit a straight line trend to the following series by the method of ieast squares'

Year
Production
(in thousand tons)

18. The probability that a contracior will get a plumbing contract is 2/3 and the

probability that he will not get an electric contract is 5/9. lf the probability of

getting at least one contract is 4/5, what is the probability that he will get both

the contracts ? (6x3=18)

PART _ D

Anslryer any two questions. Each question carries I marks.

1g. whai rs trme series analysis ? Discuss the components of time series'

20. The following data relate to the heights of fathers and sons :

Height of Fathers (in inches)X : 71 68 73 69 67 65 66 67

Heights of sons (in inches) Y : 69 72 7A 70 72 67 68 64

Find the tlvo regression equatrons and estimaie the height of a son whose

father's height is 67.5 inches.

21. An urn contatns I red, 3 white and 9 blue balls. lf 3 balls are drawn at random'

determine the probability that (a) all 3 are red (b) all 3 are white (c) 2 are red

and 1 is [rlue (d) at ieasi one is white. (2x8=16)


